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ECONOMICS
[HONOURS]
Paper : IV
Full Marks : 75 Time : 4 Hours
The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.
Symbols have usual meanings.
Answer all the questions.
GROUP-A
(Statistics—II)
[Marks : 50]
1. Answer any two questions: 1x2=2
@-CHIe g 2o T wie ¢
a)  Write probability density function of Normal
distribution.
Normal 3 TR Tty S0 (pdf) 14 |

b)  Give an example of Random Experiment.
Random Experiment @3 @36 Twizgel 7€ |

c¢) Ifx=a, a constant, then show that E(x) =a.
T x=a 27, OA ¢Ale @& E(x) =al

d) What is random variable?

R RN EEIIR PIRCH AeT e
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Answer any five questions:

2x5=10

@I 256 8ria Ted i ¢

a)

b)

d)

g)

h)

What is General Fertility Rate?
General Fertility Rate-49 <<l (14 |
Define conditional probability.
HEHICACT IS el (14 |

If A and B are independent events, and

2 3
P(A):g, P(B)zg, find P(AUB).

P(A)=2, P(B)=3 ok A @ B ofs Fretore <

2, P(AUB) @ S fofefd w41

If y=a+bx, then show that E(y)=a+bE(x).
y=atbx ¥, (tAe @ E(y)=at+bE(x).

What do you mean by Null hypothesis?
'Null hypothesis' F&I® FI (@RI 2

What is the Power of a Test?

‘Power of a Test’ FIRIE AT 2

What do you mean by level of significance?
Level of significance I57(® FI @ 2

What do you mean by statistical inference?

MRreifes Sfiaae (statistical inference) J10e
I @Re
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d)

Answer any three questions:

Show that P(A")=1-P(A).
o8 @ P(A)=1-P(A)|
6x3=18

@I foa® s Tea nie ¢

a)

b)

Determine mean and variance of Binomial

distribution.
Binomial [RTHIGR 1@ € (Sl el 3 |
In a bolt factory, Machines I, II and III

manufacture respectively 15, 13 and 30 percent
of total product. Of their output 5, 3 and 2
percent respectively are defective bolts. One
bolt is drawn at random form the product and is
found to be defective. What is the probability
that it was manufactured by Machine I11?

GF0 @G (O RIS o @iz (1, 11 8
I11) A 9] (G ST =roies! f&a11ca 2e
FAFE 15%, 13% 938 30% SR e foais
AT 5%, 3% @R 2% 2 A5 @G oA
FE| @F @5 randomly (Ol 28 @R (@60
ArEle | @ @S Qe @5 @i 11 tod S
o AR e 71|

Discuss the desirable properties of an estimator.

G0 AFBEIET Iy Rl SEha 91
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d)

Answer any two questions:

A random sample of 16 experimental animals
1s showed an average increase of 20 kg when a

new diet is administered. Assuming that the
increase in weight is approximately a N (u, 62)

with o” =4, construct a 95% of confidence
interval for the expected increase in weight due
to this new diet.

APTEd AT fefere g 160 wea T
ARSI GG QI 2N I T I 1S
@e 20 kg I 7@z | Normal =4 o” =4,
@A 62 =4, T FF, @ eopifire eoe I
95% confidence interval fasfsr 54 |

What are the basic assumptions of Classical
Linear Regression Model?

FIPRTE @RS afSae TeEE e Sl
BGREE

10x2=20

@I v 2ed Tea vie ¢

a)

Write a short note on the following:
AL DIl (=14 2
I)  Method of Maximum Likelihood.
Maximum Likelihood. *&f®
1) Life Table
sig (Bfwel
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b) Derive the mathematical expectation and GROUP-B

standard error of sample mean in random (Computer Application)

sampling in case of (i) with replacements and [Marks : 25]

(i) without replacements. 5.  Answer any three questions: 1x3=3
SRSWR 8@ SRSWOR @3 C%tq (1) =1 910%S @I TS 2o T wie 2

aeoril e (i) estd @fe e 11
¢) A random sample of size 20 from a normal

a)  What are Byte and Bit?
Byte @ Bit F&1(® 1 (@RI 2
b)  What do you mean by DOS?
DOS <#1e S JR=i 2
c)  What do you mean by personal computer?

Personal Computer IS 1 (IR ?

population gives sample mean of 42 and sample
standard deviation of 6. Test the hypothesis that
the population mean is 44. State clearly the
alternative hypothesis you allow for and the

level of significance.

g5 20 G e normal T T 42 d)  What is Boot Sector?
G Wﬁg@ 6 T AN ST 44 5(F, 93 Boot Sector SI12I(F (e ?
hypothesis 5 TR ©i(7 ABE (Test) T4 e)  Whatis BIOS?
d) Ina two variable regression model BIOS J1#
Y, =B, +B,X,+ € 6.  Answer any three questions: 2x3=6
derive the normal equation and find the @I foas &oa Teq vie ¢
estimator coefficient of 3, and f3,. a)  What are path and filename?
Y, =B, +B, X+ @3 fa-f famsid scece Path @ filename-43 ¢ AT =74 |
Freif Jwad 4o (Normal equations) e 5 b)  Distinguish between file and folder.
4R B, 8 B, -5 3 i iEel G (ERIEE W Al
e) What is sampling? Discuss merits and demerits ¢) Whatis CD/DVD Burning?
of different types of sampling. CD/DVD Burning 95108 91 (i 2

T R AT A I (@R 2 T Fzeiced [y
AaroT MR 8 weesfe] FLEHCo Brgd F9 |
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42(A)

d)

Answer any one questions:

What is the function of 'Cold Boot'?

'Cold Boot'-43 &7 FI 2

What are three basic stages of operation of a
computer?

FEBIE R o 361 B Glgd 4 |
6x1=6

@-(FI @FB AT Ted vie 2

a)

b)

Answer any two questions:

Write the steps to create a Table in your word
documents.
Word document @ (G5iRet (odl Fa19 [fen divtafe
AHF (=14 |

How will you solve the problem that computer

has been slow due to temporary files?

SR FIBETH G FACHIE A (slow) 2@ CAITE
eI e F93 ©f I T4

5x2=10

@I BB 2Aeea Ted 7l ¢

a)

b)

How do you install/uninstall a computer
program? Describe.

OF FCGIF program fFeICA install/uninstall
FACI O I |

You have inserted a Chart form Excel in your
Word document but it seems to be too big to fit

into the page. How will you solve this problem?

[7] [Turn over]
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d)

Excel 93 ot @35 5@ Word document-9 insert
0o 197 T (w2l A @ word page 93 wER
(I AT OF(F [FSIE O @3 AP AT FACI
— 9 (14|

You wish to attach reference notes to the text
you are typing in your document. Explain how
you can do this and put the notes at the end of

the document or at the bottom of each page.

FTHIE 5127l 91 TFEIHT ey of el
reference notewfe W@g{_@ A (Wﬂt@?{ (&3[&3
SI2] ACSIF 2P A5) O A |

You have 60 observations (rows) on 4 variables

(columns) in an Excel Worksheet, and you need
to create the fifth variable as the simple mean

of the first 3 variables. How will you do it?

@3 Excel worksheet-9 4% 5&2if*9 (column
RIE) 607 I T (el Witz (row IARF) | &L
foal TR siewie e #% s el
foyefa S0 @ 11 4|




